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Section — I

Write any two answer of the following :

1.  Define Public Finance. Explain the objectives and Scope of Public Finance.
2. Define Public Expenditure. Discuss the causes for fast growth of Public Expenditure in
India.
3. Give the meaning of deficit financing. Explain the adverse effects of Deficit financing
in detail.
4. What is Indirect Tax ? Explain the Merits and Demerits of Indirect Tax.
Section — I
MCQs (any five)
1. From the following, which is not a feature of public finance ?
(a) Non-rivalness
(b) Non-excludability
(c) Maximum profit
(d) Maximum welfare
2. Public finance relates to income and expenditure of
(a) Individual
(b) Government
(c) Population
(d) Community
3. Market economy fails to provide goods
(a) private
(b) public and welfare
(¢) luxury
(d) comfort
4. Which type of trend is seen in public expenditure of all the countries of the world ?
(a) Decreasing
(b) Increasing
(c) Stable
(d) Uncertain
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5. Which economist has given more importance to public expenditure ?
(a) Adam smith
(b) Marshall

(c) Keynes
(d) Pigou
6.  Development expenditure increases capacity.

(a) productive
(b) borrowing
(¢) lending
(d) spending

7. Taxisa
(a) Compulsory Payment
(b) Voluntary payment
(c) Deferred payment
(d) None of these

8. Who were the much against of privatization and disinvestment in India ?
(a) People
(b) Traders
(¢) Producers
(d) Labour Union

9.  Which debt is not considered public debt of the following ?
(a) Central government
(b) State government
(c) Private firm
(d) Local self government

10. Who has presented the benefit principle of taxation ?
(a) Mill
(b) Marshall
(c) Dr. Lakdawala
(d) Dr. Amartya Sen
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